Calculus BC – Chapter 9 - Even Answers (F.T.D.W.)
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Section 9.3

2. –1/7, geometric series
4. diverges 
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6. 1.968 comparison test

8. diverges 
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10. 2, geometric series 

12. diverges 
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14. diverges

16. converges, comparison test

18. converges, integral test

20. diverges, comparison test

22. diverges, geometric series

24. converges 
[image: image4.wmf]2

1

n

å


26. 
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28. diverges

30. converges

Section 9.4

2. diverges, ratio test

4. converges, ratio test

6. –.4 geometric series

8. converges 7.555555

10. diverges

12. converges .198125

14. converges 1.786
16. converges 6.0065

18. converges .17520

20. converges 1.87985386

22. diverges

24. converges .18459302

26. converges 1.26105

28. diverges

30. converges 14.778112

32. diverges

34. diverges

36. Root & Ratio Tests 

‘fail’ since they result in ‘1’

Section 9.5


2. converges


n = � EMBED Equation.DSMT4  ���


4. diverges


6. converges


.76466 < L < .7656


8. diverges


10. converges


S999 < L < S1000


12. conditional conv


14. diverges


16. diverges


18. conditional conv


20. absolute convergence


22. diverges


24. conditional conv


26. absolute convergence


28. conditional conv


30. absolute convergence


32. absolute convergence


34. conditional conv


36. absolute convergence


38. .00001


40. t4 (5th term)


42. .36788194


44. .69258


46. converge to 1


48. (a) not alt. series


(b) 1.02395933


(c) 1.01396


(d) probably within .00001 of the sum





Section 9.6


2. (a) � EMBED Equation.DSMT4  ���


(b) –1 < x < 1


4. (a) � EMBED Equation.DSMT4  ���


(b) 0 < x < 2


6. (a) all x


(b) all x


8. (a) � EMBED Equation.DSMT4  ���


(b) –1 < x < 1


10. (a) 2 < x < 4


(b) 2 < x < 4


12. (a) 0 < x < 2


(b) 0 < x < 2


14. (a) –1 < x < 1


(b) –1 < x < 1


16. (a) & (b) both


– 6 < x < – 4


18. –½ < x < ½ 


20. partial sums are close to .7851


(c) approximate error � EMBED Equation.DSMT4  ���


22. (a) (-3, -1] 


(b) (-3, -1) 


(c) (-2, -1)


(d)S30 on [-2.9,-2]


24. (a) [1,3) 


(b) (1, 3)


(c) (1, 2)


(d) S110 on [1.1, 2]


26. (a) use the Dx(sin x) = cos x


(b) all x


28. e-x


30. –1 < x < 1


32. (a) all x


(b)  sin x – x 


(c) -15.9< x <15.9





34. (d) 


For (a) & (b) 


 –1 < x < 1


For (c) 


–2 < x < 4


36. The difference between Sn & Sn+1 is near zero and gets smaller and smaller...


38. x = 4 


40. � EMBED Equation.DSMT4  ���


42. |x| < .823


44. when 


1.471 < |x|  & |x| < 2.319


46. � EMBED Equation.DSMT4  ��� 


sawtoothed


48. .0740


50. vertical lines


52. � EMBED Equation.DSMT4  ���


54. 2.663928


.5613459


-.0836815
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